
 
 
 
Practice Problem Solutions 
 
1.   Range = high score – low score = 149 – 84 = 65 ounces   
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Standard deviation = S = 2S = 509.378 = 22.569 ounces 
 

 
2. Range = high score – low score = 7 – 2 =  5  
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S = 2S = 2.614 = 1.617 

 
 
 
3.   Range = high score – low score = 105 – 40 = 65   
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S = 2S = 302.026 = 17.379 
 
4. Range = high score – low score = 44 – 18 = 26 years   
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S = 2S = 58.221= 7.63 years 
 
 
5.   Range = high score – low score = 45 – 15 = 30 hours  
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S = 2S = 93.53 = 7.63 hours 
 
6.   Range = high score – low score = 10 – 2 = 8 hours 
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S = 2S = 5.103 = 2.259 hours 
 

 
7 Range = high score – low score = 9 – 5 = 4 hours 
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S = 2S = 2.40 = 1.549 hours 
 

 
 
  Range = high score – low score = 7 – 2 = 5 hours 
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S = 2S = 3.211= 1.792 hours 
 
8. Range = high score – low score = 9.40 – 0.40 = 9.00 msec   
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S = 2S = 4.647 = 2.157 
 
 


